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Test 1
No books, notes or cell phones are allowed. You must show all your work, the correct answer is worth 1 mark the
remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. (2 marks) Write the percent 0.4% into a fraction and into a decimal:
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Question 2. (I mark) Reduce the fraction g% to lowest terms.
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Question 3. (I mark)
63% of what number is 28987
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Question 4. (1 mark) Bring the fraction % to higher terms to éliffﬂnate the decimals (write your final answer in
lowest t&rms). ‘ ‘ . '
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Question 5. (3 marks) Simplify the following (round your final answer to two decimal places):
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Question 6. (3 marks) Simplify the following:
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Question 7. (2 marks) Expand the following: o

(a—b)(2a* —a+3b+1)
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Question 8. (3 marks) Simplify the following:
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Question 9. (2 mark) Evaluate the following to two decimal places:
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~ Question 10. (1 mdrk) Rewrite the exponential 63 = - asa logarithm.
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" Question 11. (I mark each)
Evaluate the following to two decimal places:
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Question 12. (4 marks)
Let r = 0.045, P = 2245, and t = 1104. Evaluate S to two decimal places:
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Question 13. (2 marks)
Solve for a in the following equation:
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Question 14. (4 marks)
Solve for x and check your answer: .
3t 1) = (6-x) — (+1) = 6(x—2) — 1 | | cHeck:
/ - -, B e -7 - ' - 7 f .
Lyxy =l vk -k | = lox t s E Bin) - (6-3)- (gm
I - = b -1 Y “‘3 ~ () -&)

RS SRS ‘ _ | .:' [2=~.m— S "%?
Sa plyez) 4 le Grad ot

ey

o

o



Question 15. (3 marks)
Solve for x:
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Question 16. (2 marks)
Change the ratio 36: 48 : 72 to lowest terms.
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Question 17. (2 marks)
Solve the proportion 5:x = 15: 24.
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Question 18. (4 marks)
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An ice cream shop is making an inventory of it’s ice cream cones. Since waffle cones are more popular, there are 7
times the amount of sugar cones as waffle cones. How many ‘affle cones does the shop have if they have 208 cones

in total?
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Question 19. (4 marks)
Frank opens a savings account with zero interest at a bank. He makes an initial deposit of $4 OOO on January 1“ he

withdraws $1 500 on May 1%, he deposits $600 on August 1*, he deposits $1 000 on November 1**. What was Frank’s
average monthly balance of his savings account for the year? ‘ ) )
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Question 20. (4 marks) {( _
An electrician and her apprentice worked together for a 3%, 7 % ,and 5 % hours respectively. What was the cost of labour

if the electrician charges $54.25 per hour and the apprentice charges $16.75 per hour?
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Question 21 (4 marks)
An investor makes $14 960 from three stocks in the ratio 5 : 4 : 3. How much did he get from each stock?
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